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A knot diagranﬂ €9 Co G5 Cg €3 €7 Ci1 C2
Ideals for irreducible component#ﬂ)f Xpar

If=(w® —u® 4+ 20— 1)

* 1 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u% —u?® ... 4+2u% —1)

(i) Arc colorings

0
aio = \u
1
as = u2
u
a9: u3+u
uB
a1 =\ +ud +u
—ub —ut+1
as = \ —u® — 2u8 — 2t
B
ag = \ud+u
—uS —ut+1
a3 = \yb + 2ut + o2
w +2u” +u® —2ud —u
ar = —u? —3u" —3ud +u
u? +6ut + -+ 6ud + 203
ar= \—u® -7+ =3P +u
3T 4+ 10U 4 - 4 2u3 —u
ag = WS w3 a1
w3 10U - 20 —w
ag = WS T b fut1
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4uB7 4 4430 — 44435 + 40uPt — 228133 + 192032 — 708u3! + 556130 — 1396u2? +
1024128 — 163617 + 1100u?6 — 628u?> + 284u* + 1308u?? — 1084u?? 4 2424u>! —
1760u20 + 15120 — 101208 — 3201’7 + 300u'% — 1080u'® + 804u'* — 528u'3 +

396u!2 + 92u! — 44419 4+ 1320 — 92u® — 160" — 121’ — 36u® + 8u® + 4u® + 4u? + 4u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cq w - 2u—1

C2 u F1Tu 20 1
c3,Cs,Ct u39_’_u38_’_.._+14u_1

cs

C4,Cy W - -1

C10 w —23u o — 22+ 1

c11 uw -3+ —14u+3




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

C1,Ce y39—17y38+--~—2y2—1

C2 y39+11y38+_4y_1
€3,C5,C7 Y30 — 49938 ... 496y — 1

cs

C4,Cy Y30 42338 2% -1
10 3 — 1338 gy -1
c11 y?? —5y* . 464y — 9




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

uw = —0.071922 + 0.9932461

1.71946 + 2.044191

8.16431 — 3.893207

u = —0.071922 — 0.9932461

1.71946 — 2.044191

8.16431 + 3.893201

u= 0.435411 + 0.8090831

—1.87228 — 5.102211

—1.97486 + 8.582091

u= 0.435411 — 0.8090831

—1.87228 + 5.102211

—1.97486 — 8.582091

u = —0.909371 + 0.0166871

10.31070 — 1.712891

5.85984 + 0.159791

u = —0.909371 — 0.0166871

10.31070 4 1.712891

5.85984 — 0.159791

u= 0.908911 + 0.0302661

8.53389 4 7.143921

3.38402 — 4.709331

u = 0.908911 — 0.0302661

8.53389 — 7.143921

3.38402 + 4.709331

u = —0.411819 + 1.0100301

0.09606 + 2.712061

0.59234 — 4.529741

u = —0.411819 — 1.0100307

0.09606 — 2.712061

0.59234 + 4.529741

u= 0.880484

4.53816

—0.00697750

u = —0.305665 + 0.8022711

0.32922 + 1.445321

2.59215 — 4.772771

u = —0.305665 — 0.8022711

0.32922 — 1.445321

2.59215 +4.772771

u = —0.293342 + 1.1332201

3.74981 — 2.168881

7.25820 + 2.130791

uw = —0.293342 — 1.1332207

3.74981 + 2.168881

7.25820 — 2.130791

u=0.342277 + 1.1246201

5.04615 — 2.653471

9.41633 + 3.854401

u=0.342277 — 1.1246201

5.04615 4+ 2.653471

9.41633 — 3.854401

u= 0.429374 +1.0975701

4.38863 — 4.565191

7.75323 + 4.922191

uw= 0429374 —1.0975701

4.38863 + 4.565191

7.75323 — 4.922191

u = —0.464708 + 1.0878401

2.47286 + 9.367631

4.01171 — 9.562821

u = —0.464708 — 1.0878401

2.47286 — 9.367631

4.01171 + 9.562821

u= 0.415674 + 0.6420541

—2.32655 + 1.375121

—4.12538 — 0.534121

u= 0.415674 — 0.6420541

—2.32655 — 1.375121

—4.12538 + 0.534121

u = —0.632416 + 0.1997651

—0.01291 — 5.168221

0.66391 + 6.047071

u = —0.632416 — 0.1997651

—0.01291 + 5.168221

0.66391 — 6.047071

u= 0.467898 + 1.2545701

8.33752 — 4.798551

3.23494 + 3.060591

u = 0.467898 — 1.2545701

8.33752 + 4.798551

3.23494 — 3.060591

uw= 0.454344 + 1.2752501

6.85027 — 1.711761

12.54280 + 2.323191

u= 0.454344 — 1.2752501 12.54280 — 2.323191 6.85027 + 1.711761

u= 0.488216 + 1.2633801 12.2898 — 12.13431 6.37996 + 7.628831




Solutions to I}

V=1(vol + y=1CS)

Cusp shape

0.488216 — 1.2633801

12.2898 + 12.13431

6.37996 — 7.628831

—0.462613 4 1.2732201

14.2633 + 3.15121

9.14562 — 2.876171

—0.462613 — 1.2732207

14.2633 — 3.15121

9.14562 + 2.876171

—0.481297 4 1.2665201

14.1233 + 6.67011

8.91783 — 3.168281

—0.481297 — 1.2665201

14.1233 — 6.67011

8.91783 + 3.168281

0.599274 + 0.1057051

1.67499 + 0.651501

4.60786 — 0.909271

0.599274 — 0.1057051

1.67499 — 0.651501

4.60786 + 0.909271

= —0.448469 + 0.3411571

—1.70724 4- 0.925161

—3.72881 — 0.981471

gl |g|g|g|=

—0.448469 — 0.3411571

—1.70724 — 0.925161

—3.72881 4 0.981471




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cq w - 2u—1
C2 P+ 1Tu® 20 1
Cc3,Cs5,C7 u39+u38+...+14u—1
c8
C4,Co u -2 -1
C10 w? —23u + o — 22+ 1
11 =30+ —14u+3




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

C1,Cg y39717y38+~'~—2y271

€2 Y+ 11y . 4y 1
C3,Cs,C7 y39—49y38+~"+96y—1

Cs8

C4, C9 v 2338 22 1
C10 Y2 — 13y o b dy — 1
c1 > —5y* -+ 64y — 9




